TAMSAYILAR

5-7+12-3
isleminin sonucu kagtir?

A7 B)8 c)9 D) 10

20—-5.(3-5)
isleminin sonucu kagtir?

A) =30 B)—20 C)20 D) 30

(=2).[-4-(-2+5)]
isleminin sonucu kagtir?

A) 10 B) 12 C)14 D) 16

12 —3 X% 4:(-2)
isleminin sonucu kagtir?

A) 14 B) 18 c) 20 D) 22

—-18:6 + (—3).(—2)
isleminin sonucu kagtir?

A)2 B)3 C)4 D)5

6.

10.

[(=2).(=5) + (=3).2]

isleminin sonucu kagtir?

Al B)2 (3 D)4

[(=24): (+3)] + [(=12): (=3)]

isleminin sonucu kagtir?

A)—4 B) -2 C)2 D)4

5—-2%x3+18:(-2)+6
isleminin sonucu kagtir?

A)—6 B) -5 C)—4 D) -3

x =2,y = =3 degerleriigin

4x=2y . .
isleminin sonucu kagtir?

A)1l B)2 C)3 D)4

Asadida verilen islemlerden hangisinin sonucu
yanlis verilmistir?

A) (+7) + (=36): (+3) = =5
B) =7 — (=12) + (+7) =5

€ 4-2.[3-(-2)]=10

D)6 —(=2)+[(-3)-(-9)] =14




